Answer key
Grade 3 English

VOCABULARY GRAMMAR
1 mark for each 1 mark for each correct
correct answer answer
1 k 11 a lot of
2 F 12 some
3 D 13 any
4 C 14 am
5 J 15 is
6 I 16 are
7 E 17 an
8 H 18 a
9 B 19 an
10 |A 20 the
Total marks =10 Total marks =10

READING each answer carries one mark

21 B
22 |B
23 (A
24 (A
25 |[C

WRITING each question carries 1 mark

26.

park

children

child

four




park

LITERATURE each question carries 2 mark

27 Oscar made noise by rubbing his wings together.

28 Wilfred was saving the cheese wafer for a special occasion.

29 The Asiatic lion is found only in the Gir forest .

30 The old woman wanted to eat an apple pie.

31 Yapo was disappointed because he was unable to score any goals.




